feEEhIl)

o SFCEZEMI) (RA=SEERI))

37

o EHR¥EZEENIN

o INAFEEEERI

38

39

o CRIGZHHI\)

40

http://www.sunhoist.com.tw

E-mail: shicoltd@ms23.hinet.net

36



£l

SUN HOIST

. SFCAEZRHHI) recaman)

SFC %

- M8 : 3R (SUI2) FEE

- BED - SEKRAERE - ERREEIER
- FREFHE : 1.5um Rmox

- §8E : HRC62 =2

*RBFNIRZERY

8

BARERE  sxwimrE

s mm

SFC 3 3 200 0.06 3
SFC 4 4 = 300 0.10 4
SFC5 5 -12 400 0.5 0.16 5
SFC6 6 2000 0.23 6
SFC 8 8 5 4000 0.40 8
SFC 10 10 -14 4000 0.62 10
SFC 12 12 4000 0.8 E 0.89 12
SFC 13 13 _'167 4000 1.05 13
SFC 16 16 4000 1.58 16
SFC 20 20 4000 2.0BE 2.47 20
SFC 25 25 _'270 4000 3.85 25
SFC 30 30 4000 o 5.55 30
SFC 35 35 4000 7.55 35
SFC 40 40 _'295 4000 9.87 40
SFC 50 50 4000 15.41 50
SFC 60 60 10 4000 3.0 22.20 60
SFC 80 80 -29 4000 39.46 80
SFC 100 100 12/-34 4000 61.66 100

SUN HOIST Co., Ltd.

TEL : 886-4-2536-2411 FAX : 886-4-2536-1966



SNT R%

B

- ME : B (SUJ2)

- BIED - SEEREE - iERREEEE
- FREFHE : 1.5um Rmox

- IEE : HRC62 =2

SUN HOIST

NERE BB LE
(um) RE
mm
SNT 10 10 4 -5~-14 1000 0.52 10
1.0B4
SNT 13 13 6 o 1500 0.82 13
SNT 16 16 8 2000 1.18 16
1.58
SNT 20 20 10 3000 1.85 20 10
SNT 25 25 15 -7 ~-20 3000 2.46 25 15
SNT 30 30 16 3000 2.0l 3.97 30 16
SNT 35 35 19 3500 5.32 35 19
SNT 40 40 20 -9~-25 4000 7.39 40 20
25 F
SNT 50 50 26 4500 1.2 50 26
SNT 60 60 32 B .55 4300 15.9 60 32
SNT 80 80 48 4000 3.0k 25.3 80 48
SNT 100 100 60 12 ~-34 4000 395 100 60

CHE (d) 2BEFREEE -

http://www.sunhoist.com.tw E-mail: shicoltd@ms23.hinet.net




| cmas

39

SUN HOIST

W ra 28Il

SNB 17

- M8 : B (SUJ2) FE

- R - BERERERTE - iRERRE RIS
- FREFHE : 1.5um Rmox
- IEE : HRCB2 =2

Iy ) O FEXN ) O FESN ) O FEXN ) O - B
SB[
= 2 ﬂ: ik
d c
*PI2 P£0.1 P2
L TEE: BT mm
FRRE BRREE RRARE ed)=s] BARE

(4 s t c Lmax
SNB 10 1o, 100 M4 x 0.7 4.5 4.5 1.5 0.5 1500
SNB 12 12 100 M4 x 0.7 5.5 4.5 2.0 0.7 1800
SNB 13 g 100 M4 x 0.7 45 2.0 0.7 2000
SNB 16 16 150 M5 x 0.8 5.5 25 0.7 2000
SNB 20 2007 150 M6 x 1 6.5 2.5 0.7 3000
SNB 25 257, 200 M6 x 1 12 6.5 25 0.7 4000
SNB 30 N0 200 M8 x 1.25 15 8.5 3.0 1 4500
SNB 35 g5 o 200 M8 x 1.25 15 85 3.0 1 5000
SNB 40 403, 300 M8 x 1.25 18 8.5 3.0 1 6000
SNB 50 50 s 300 M10x 1.5 22 105 4.0 1 6000
SNB 60 BO e 500 M10x 1.5 22 10.5 4.0 1 6000

- BiEE (P) THEERST EAE + 1SR -

SUN HOIST Co., Ltd.

TEL : 886-4-2536-2411

FAX : 886-4-2536-1966



CRASZHI

- 18 : FRhxsE (S45C)
- RIEFIIN : REFEIESS
* (ABNISHERYT

SUN HOIST

G
Y

BRARERE
L
mm

http://www.sunhoist.com.tw E-mail: shicoltd@ms23.hinet.net




	崧禾-內頁036-141205
	崧禾-內頁037-141205
	崧禾-內頁038-141205
	崧禾-內頁039-141205
	崧禾-內頁040-150409

